HALF YEARLY EXAMINATION 10»/ 2017
CLASS : XI
" SUBJECT : BUSINESS STUDIES (SET-II)

Time : 3 HIs. ‘ M.M.: 80
General Instructions :

(i)
(ii)

(iii)
(iv)

Q1.
Q2.

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Answers to questions carrying 1 mark may be from
one word to one sentence.

Answers to questions carrying 3 marks may be from .

50-76 words. ’ ;
Answers to questions carrying 4-5 marks may be about
150 words. | '

Anstwer to questions carrying 6 marks may be about
200 words.

What utility do the ATMs provide to its users? 8l

Identify the type of cooperative society that aims to
eliminate middlemen and improve competitive position of
its members by securing a favourable market for the
products. (1)
Prateek is a doctor whereas Jatin sells toys for children.
State the nature of their activities and further distinguish
between them on the basis of capital investment. (n
After receiving the minimum subscription, a company
applies to the Registrar to issue a Certificate of
Commencement of Business. List any two documents that
must he filed along with the application. ‘ (1)

Customers can use call centres 24 hotirs to make queriss
and lodge complaints. Identify and explain the kind of

e-business transaction involved here. (1)
Ria is purchasing shoes from Myntra.com. Suggest to her
any two ways for making online paymeit. (1)

Bhuvan Pvt. Ltd. and Reliance India Ltd. are two
corhpanies. Which of the two is a private company and a
public company. Give reasons in support of your answer.

‘ (1)

It can borrow money. enter into a contract like a natural

“person but unlike them it doesn't gat, breathe. walk or

(1)



Q9.

Q10.

Q11.

Ql2,

Q13.

Ql4.

run. Identify the form of business organisation and its

feature mentioned above, .

(&) Identify and explain those activities which are
connected with the extraction of natural resources,
(b)  Explain the various types of the above dctivities
mentioned in (a). ’ (3)
Mr. Satish Verma took an insurance policy against his
car. But he sold it within a year to his friend Mr. Rakesh
Kalra. The car was stolen. Mr. Satish Verma made a claim
to the Insurance Company to pay the damages.
(a)  Will the insurance company accept his claim? Why?
(b)  Explain the related principle.
(c) Identify the values that have been violated by Mr.
Satish Verma. (3)
Om and Jagdish started a parinership firm. Om wants to
register their firm under the Partnership Act 1932 whereas
Jagdish finds it a wastage of time as it is not compulsery.
What do you think, who is right - Om or Jagdish? Give
reasons in suppert of your answer. . (3)
ldentify and explain the service which is related to the
following cases '

(a)  The service which helps i removing hindrance of

knowledge,
(b} The service which helps in removing hindrance of
finance. ‘ _ ‘
(c) - The service which helps in exchange of information
ameng traders, producets and consumers, - (3)
Write a short note on Knowledge Process Qutsourcing
(KPO). (3)

Sharda Automobile Ltd., a leading automobile company,

wants to expand its business Internationally to enhance

its market share with better quality products, For this it

collaborates with a leading Japanese automabile company
Yokitako Ltd, The Japanese company agrees to by 4096

stake in Sharda Automnobiles.

3



‘915.

(a) Name and expiain the type of enterprise mentioned

" in the above case.
(b) Also, explain any four of its benefits. (3)
“The basic rationale of public sector has changed

* significantly”. In the light of this statement, explain any

Q1le.

four initiatives taken by the government in its ‘New
Industrial Policy, 1991 (4)
Strategy Ltd. is a company dealing in manufacturing, sale
and exchange of medicines. The workers of this company

_always fall ill due to unhealthy working conditions. The

. company is also in the habit of providing incomplete

Q17.

Q18.

Q19.

information to its stakeholders and the government.

(a) Explain the social responsibilities that should be
fulfilled by the company towards the interest groups
highlighted in the above case.

(b) Also mention any two values violated by the
company. (4)

Harsh and Gurpreet started a partnership business.

Gurpreet is a famous singer. He has no time to get involved

in business activities. Harsh takes the business decisions

on: behalf of Gurpreet.

(a) Identify the type of partners which Harsh and
Gurpreet are.

(b)  Also, explain any other three types of partners. (4)

“No business is risk free”, In the light of this statement,
explain the causes of business risks. (4)

Ms. Sheetal is running a boutique in Delhi. She takes all

‘the managerial decisions herself and also gives personal

attention to her customers. On the other hand, Gopal and
Rohan are running a garments business jointly. They take
joint decisions to run their business properly and have
the expertise of marketing and promoting their products.

(a) Identify the type of business Sheetal is engaged in |

by quoting the lines..

(b) What type of business are Gopal and Rohan doing?
Quote the lines also. '

[4=21



Q20.

Q21.

Q22.

Q23.
Q24.

Q25.

Q28.

Q27.

(¢) Distinguish between the two forms of business
mentioned above. {4)

Ishu and Gurpreet are friends. Ishu is a businessman who
deals in buying and selling computer parts whereas
Gurpreet is working as a manager in ICICI Bank. Ishu
deals with a lot of customers daily and receives money
from them as his transactions are mostly on cash basis.
He also deals with different suppliers and has to make
frequent payments to them. As it becomes difficult for him
to manage cash daily, his friend Gurpreet has advised him
to open a bank account in ICICI Bank.

(a) Name and explain the type of bank account that will

be opened by Ishu.
(b) Explain the other types of bank accounts available
to the customers. , (3)

“Ethies may be viewed as the entire body of moral values
that society attaches to the actions of human beings”. How
‘can the business enterprises foster ethics in their day to
day working? o {5)
Distinguish between Flipkart.com and the Big Bagar store
on the basis of (a) Operating cost (b) Cost of setting up. '
(c) Physical presence (d) Natural of contact (e) Location
requirements. (5)

Discuss the various types of telecom services. (5)

Explain the various steps required to raise funds from the
general public during the formation of a company? (6]

Name the organisation which is established by passing a
Special Act of Parliament or State Legislature. Explain any
five characteristics of such enterprises. (6)

It is a voluntary association of persons for mutual benefit
and its aims are accomplished through self help and
collective efforts. Identify the forin of business ar’ganisaﬁon
and explain its limitations. (8)

vour friend wants to start a business. Suggest to him what

all forms of business are available to him and explain to
hitn the various factors that he should keep in mind while
choosing a form of business. - (6)

4)



. ‘ TERM 1 EXAMINATION
Ay INFORMATICS PRACTICES
. ‘ CLASS- X
TIME: 3HOURS MM: 70
GENERAL INSTRUCTIONS:

u All the guestions are compulsory.
. Answer the following questions after carefully reading the text.

= Relational Database = MySQL

Ql. a. What is the purpose of Ports in Computer? [1x10=10]

b. Name any one Super Computer developed in India.
c1KB=_ " Bytes
d. Classify the following as input and output devices.

i. Light pen ii. flatbed plotter

- g, Give two examples of storage devices.
f. Which of the following are not hardware .
i. Printer ii. Java iii. Keyboard iv. Assembler
g. Riya is not clear about the difference between the following two -

statements:
i. SELECT (9-6) * 12;

“ji. SELECT (9-6) *12 FROM EMPL;
Help her to understand the difference between these two statements.

h. Give full form of - 1y MICR ~ ii) IDE

i. What is CAPTCHA?
j. Write MySQL command to create a new database “Computer”.

. 'Q2. a. How does firewall work? [i]
b. What do you mean by BIOS? -2]

¢. Differentiate between a vitus and a worm. [2]

(21

d. Explain any two input devices?

e. What is CPU? Explain its parts with diagram. [3]
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Q3. a. What is the purpose of “order by” clausa in MYSQL? [2x5=10]

b. Rohan has created table with 10 rows and 5 columns, After testing he
added 20 rows and deleted 4 columns. What is the Degree and
Cardinality of the table, ‘

¢. Write the difference between Alter and Drop command.

d. How Is SYSDATE () different from Now ()?

e. What is the purpose c)f‘Primary Key? Explain with an example.

04. a. Write the output of the following queries: I [1x10=10]
(i SELECT ROUND(7777.777, 2);
(i) SELECT DAYOFYEAR ("2015&03-07");

(iii) SELECT 5000+ SQRT (81);

(iv) SELECT INSTR ( ‘RED SCHOOL ", w);

(v) SELECT POWER (2,4); =

(vi) SELECT LENGTH (“MY BOOK”);
(vii) SELECT SUBSTR( “ INTELLIGENT",3,4);

{viii) SELECT YEAR {“2017-09-17");

(ix) SELECT CURDATE();

(x) SELECT LOWER(CONCAT{ “HELLO”, “WORLD"}); ‘ o

Q5. Differentiate between the following - ‘ [2%5=10]
3. RAM and ROM ‘
b. DDL and DML command
c. Application software & System software
d. Address bus and Control bus

e. Compiler and Interprefer,



Q6. a'Wirite SOL commiands for the queries (i) to (x) basad on a table OnLineShop. 8]

N

TABLE : OnlineShop

Code |nmame |[Company = [ty City Price
o1 | Magg  [Kissan 50 Rajkot 70.00
[T0z [ wiscarr  pute 70 |New Delhi  |100.00
" 105 [Jam  |Maggi 60 |Ahmedabad. | 95.00
109 Sauce Nestle IS0 Rajkot 26.00
110 ChocolatelCadbury 53 New Delhi 209.00
107 Cake Hide & Sask 30

Chandigarh | 380.00

(i) To display names of the items whose name starts with 'C' in ascending order of

price.

i) To display code, item name and city of the items whose quantity is less than 100

(iii) To display all tems whose price value between 100 1o 250,

(iv) Toincrease the price by 10% of all items.

(v) Add following record to the table.

115, Pizza, Nestle, 40, Rajkot, 75.00

(vi) To add one more column totalprice with numeric(10,2).

(vil) To remove jam items from the table.

" (viil) To display chocalate, jam and biscuit.

b) i) write all relational operators.

ii) What is the use of Ltrim() function?

T e
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Q7(a) Write My5QL command for creating a table “CUSTOMER” whose structure is given

below:

Field:Name DataType Size | Constrainfs
Cust_Number | Integer_ 4 | Primary Key
Name varchar 20 B
BirthDate Date

Amount Integer "8 Not Null
Address Varchar 20

| PhoneNo. Varchar 10

{b) Write command to insert 1 record in table Customer.
(c) Write mysgl command to see the structure of the table.
(d) Differentiate between DELETE and DROP Command.
(e) What s a database? Give two examples.

{f) Describe the Like predicate with the help of example.

(2]

il
-
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Term-i1-17
Class - Xl
SUBJECT: PHYSICAL EDUCATION

TIME: 3 HOURS : M.M-70
General Instructions:

(i) All questions are compulsory.

(i)  Answer to question carrying 1 mark should be approximately 20-30 words.

(i)  Answer to question carrying 3 marks should be approximately in 70-100 words.
(iv)  Answer to question carrying 5 marks should be approximately in 150-200 words.
Q1. What is the significance of sports?

Q2. What is sports journalism?

Q3. What is meant by life style?

Q4. What do you mean by coordinative abilities?

Q5. What is Olympic motto?

Q6. What do you understand by weliness?

Q7. What is Yama?

Q8. What do you mean by Narcotics?

QY. Define the term environment?

Q10. What is Doping?

Q11. Write down the name of highest award in the field of sports?

Q12. Explain the concept of adapted physical education? (Any three)
Q13. Discuss the role played by spectators and media in creating a positive sports environment?

Q14. What are the side effects of anabolic steroids? Explain in brief,

(115. What de you mean by pranayama? Mention the types of pranayama.
Qis6. Describe any three physiological benefits of Asanas?

Q17. Elucidate the objéctives of Modern Olympic Games.
| Q18. What do yau mean by prohibited substances? Explain any three.

Q19. Explain any three elements of Yoga?

Q20. Discuss any five essential elements of Positive Sports Environment.

Q21. Explain the career options available in the field of sports.

Q22. What are Ergogenic Aids? Explain any four types of Ergogenic Aids.



Q23. What do you mean by common lifestyle diseases? Discuss the methads of prevention and

management of hypertension.

Q24. Write short notes on the following.
(a) In-and-out-of-competition testing for doping
(b) Responsibilities of athletes for doping control
Qzs. Explain about Arjuna award in detail.
Q2e. Give detailed notes on any two of following.

(a) Olympic oath
(b) Prevention and managements of Back Pain
(¢} Paralympic movement

LR LR R ]















HALF YEARLY EXAMINATION ' ID/ 017
CLASS : XI
SUBJECT : ENGLISH (SET-II)

Time : 3 Hrs. | : M.M.: B0

General Instructions :

M
(i)

(iii)

il
(1)

(5)

This paper is divided into 3 sections : A, B and C. All sections are compulsory.
Separate instructions are given with each section and question, wherever necessary.
Read these instructions very carefully and follow them faithfully.

Do not exceed the prescribed word limit while answering the questions.
SECTION-A (READING)
Read the given passage carefully and answer the questions that [ollow : (12)

Spiritually seldom dribbled with soccer, until the ‘Hand of God’ came into play during the
quarter final match of the 1986 World Cup football between Argentina and England. Diego
Maradona claimed that divine intervention had helped him score the controversial goal.

A short film made in 2003 hy Mike Walker - Does God play football? - explored the relationship
between God and Tommy, a seven year old football fan, Tommy's only desire is to have a father
ol his own o play football with. In the absence of a real Dad, he adopts God as his father with
the help of a local priest - very like how the human soul longs for communion with the Universal
spirit.

An individual remains unfit for spiritual journey without the requisite physical and mental
strength, Vivekananda said : “You will be nearer to Heaven through football than through the
study of Bhagavad Gita”. A player's patience and perseverance is tested on the [oothall field at
every moment; the ability to wringgle out of tough situations and hold on to one’s nerves in
tight situations. A seeker, too, has to undergo such trials during the inward game of realization.

Look at football as a metaphor for life. The ball is the individual's ego. Team members are
famnily and friends; (rusl in leamnmales is (he foundalion of A gond relationship and helps the
player win the match of happiness. The opposition players are obslacles like anger, pride,
hatred, that must be overcome to reach the goalpost. The goalpost is the universal consciousness
to which a person must ultimately submit the ego, to achieve true bliss. The coach is the guru
who teaches the way and the player learns [rom his mistakes on the field. The referee is the law
of karma that reinforces the correct rules for playing. The audience is sociely thal reacls (o
performance on the field. As in life, a game that has started must end, As long as a person is in
the game, one gels the illusion of limited time and space. Dnly when Lhe game gets over, does
one realize the limitlessness of time and space.

Every player is assigned a particular role on the field according to hls skills - forward, midficlder,
defender, or goalkeeper. Similarly, in life we have designated roles. Qur capabhilities and choices
determine the contribution we make to the world through our work. Like a player who can
manceuvre the ball on the field, a person has the [ree will to choose his thoughts, words and

(F-1)



actions. Football is meditalion ‘on the rum. A player is always ‘in the moment’ for the enlire
duration of the play. The player has no thought of past and no use {or future, as all the s¢ -ing
opportunities are created in the ‘now'. ‘
Football leaches one lo be & pood spectalor, one who walches (he game wilh passionate
detachment. For him, an exciting fantball malch s only (hat - a Hame Wins or logses, cven lor
his favourite team, do not bother him. A good spectator is like a joylul observer of lile; he
witnesses events around him as they come and go, and remains detached as he is always
centered in truth. : :
Today, foothall 1s & fuith binding a legion of followers across the world. People, irrespective of
their religions, nationalities and cultures, are tuning in simltaneously to watch live foothall, 1T
{his is not universal phrotherhood, what else is?

(P. Venkalesh) (Souree : hitp:// spiri.iiuall.y.indi.atimes.cum)
i Choose the most appropriate option to complete the given sentences : (4x1=4)

(a) When Diego Maradona played during 1986 World Cup football between Argentina
and England, he claimed that '

(i)  hewas skillful enought to score a goal.
(i) luck favoured him.

(iif) the divine intervention had helped him.
(iv) the opposile leam was weak.

(b) For spiritual journcy, one needs

() physical and mental strength (i) todo meditation regularly

(it} to visit a temple every day (iv) to follow a guru
(¢} The opposition players in the game of football represent oo

real lifc.

(). o opportunity to showcase your lalent
(ii) obstacles like anger, pride, hatred

(iii) the society (hat judges one’s performance
(iv) an opportunity {o learn team spirit.

(d) Onerealizes the limitlessness of time and space

()  while playing the game of foothall.
() while scoring a goal
(ii) when one wins the match
iv) when the game gets over
[l Answer the following questions brielly : (Bx1=6)
(€) What is the theme of Lhe shorl movie ‘Does God play football™?
()  Accordingto Vivekananda, how can we get near to the Almighty by playing foolball?

(I-2)
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Q2.

(3)

(@) Whom does the football coach represent in real life?
(h) How is [oothall meditation "on the run'?

(ij  What are the similarities between playing the foothall game and playing the designated
role in life?

()  How does football teach one to be a good spectator?
M. Find words from the passage which mean the same as : (2x1=2)

(k) aligment of imaginalion (para 4)

()  aplanned and controlled movement or serics of moves (para 5) ,
Read the passage given below and answer the questions that follow : (8)
Nobody has the faintest idea when the first marbles rolled across the earth's surface, but small

stones, deliberately chipped and rounded, have been unearthed at Stone Age excavations on
three continents, Today, marbles [rom ancient Rome and Greece occupy places ol honour of
places like the British Museum and New York's Metropolitan Muscum ol Art. Shakespeare
mentions “Cherry Pit", a game of marbles, marbles appear in a picter Bruegel painting and are
referred to by the Roman poet, Ovid.

Marbles are small, hard balls that are used in a variety of children's games and are to named
after the 18th century practice of making them from mrable chips. Marble games date back to
anliguily and ancient games were played with sea-rounded pebbles, nuts and seeds ol some
fruits. The young Oclavian (later the emperor Augustus), like other Roman children, played
games with nut marbles, and engraved marbles have been dug up from the earthen mounds
built by some early North American Red Indian ribes. Early settlers in the USA found the Red
Indians playing marble games with what archaeologists now refer to as “game stones”.

The object of marble games is to roll; throw, drop, or knuckle marbles against an opponent's
marbles, often to knock them out of a preseribed area and so win them.

Year after year, nearly 200 million marbles are turned out by the mixing, shaping and rolling
machines of marble making factories. The demand for marbles is constantly increasing. In
addition to children’s games, like knuckling, marbles are also used in numerous other games.
Chinese Checkers, a perennially popular game, requires 60 marbles [or each game, 10 cach for
six other diflferent colours. |

In the 20th century, marbles have been made of a variety of materials : baked clay, glass, sleel,
plastic, onyx, agate. During World War 11, engineers perfected the little glass balls lo such a
degree that they could be substituted for steel bearings. Tons of these glass balls go to the
lithographers and engravers, to be used in smothing the surface of copper printing plates,
Special marbles arc made for this purpese, to withstand the punishmenl of being rolled back
and forth over the melal surlaces, ‘

Many highway signs are made of marbles. Each glass ball has an individual reflector behind it,
so that headlights at night will spell out safety warnings. In the oil felds, refineries use acid
proof marbles are filters and condensers. The glass balls are injected into old oil wells to prepare
them for possible further use. Consequently, millions of dollars worlh of oil can now be recoverad,

(F"-3)



(7)

Q3.

Q4,

Q5.

Q6.

Some fish halcheries place marbles on the boltom of poals, claiming betler resylis during the
spawning scason. Paper mills now use glass balls in (heir manufacturing unitg, Only recgntly
has it been found out that marhjes arg highly usclul in the spinning of glass (Lrea, And last,
bul nat the least, when life COmes to an end and the meory] Tomaing are placed in 4 modern
mausoleuny, a dozen or gg marbles are thrown by the mourners onto the tomb, so that (he
colfin will roj] easily into place, ‘ :

(@) On the basis of your understanding of the aboye Passage, make notes op il, using headj rngg
and sub-headings and abbreviations (i lour) wherever necessary, Also suggpes) g
suitable tiile, (5)

(b)  Write a summary of the bassage in not more than 80 words usign the notes made. (3)

SECTION-B (ADVANCED WRITING SKILLS) |

You are the manager of Dance House, Delhj. You are planning (o organise 5 talent huni
competition for the budding dancers. Design a poster announcing the competition to be held in
Delhi in the month of November,

Times’ under the classified columns, (4)

Recently, India’s women's cricket team brought laurels (g the country. Write a letier to the
Editor of a national daily highlighting the need to provide hetter lraining opportunities to woren
Players across the country. You are Sanjeev, 16/13, Kamly Nagar, Delhi. (6)

You are Chetna of DAV Public School, Vasant Vihar. Your schoo] has recently built a well-
planned auditorium to hold academic and cultural programmes, The: editor of yeur school
magazine has asked you to write a factual deseription for (he magazine, Write the description in
about 150-200 words,

| You are Preeti/Pranav, Head Girl/Boy of your school. Write a speech to be delivered at the

Career Counselling Session for students of class XI of your school advising them g think
seriously ahout their goals and aptitudes before choosing a stream of study. (150 200 words),
(10)

SECTIDN—C (LITERATURE TEXT BOOKS AND LoNng READING TEXT)
Read the given extracts and answer the questions that follow : ;

And forever, by day and night, I give back life
to my own origin,

(F-4)



And make pure and beautify it;
(for song, issuing [rom its birlh place, aller [ullilment, wandering
Reck'd or unreck'd, duly with love returns)

(e) Whal does the rain do day and night? (1)

(b) How does il give back life Lo its own origin®? (1)

(0) How does the rain purity and heautify the earth? (1)

(d) Why are the last lines pul within brackets? (1)
OR

Now she’s been dead nearly as many years

- As that girl lived And of this circumstance

Q7.

Q8.

Qo.

Q10.

Q11.

There is nothing Lo say al all
Its silence silences,

(a) Who is ‘'she’ in the above lines? For how many years ‘she’ has been dead? (1)
(b) What does ‘this circumstance’ refer to? (1)
(c) Explain Tts silence silences’. (2)
Answer any four of the following questions in about 30-40 words each : (4x3=12)

(a)  How did the narrator get back Lo the ship after been having thrown into the sca?
b)  Each pholograph is a memory. Juslily the stalement in the light of the poem ‘A Photograph'.

—

¢) Mourad showed a special concern for animals. Justify.

) What was the narrator's mother’s opinion about Mrs. Dorling?

(=}

() What made the Shastri unhappy in the lesson ‘Ranga’s Marraige'?
()  What do Doris and Cyril feel about Mrs, Pearson's changed behaviour?
Answer any one of Lhe given queslion in aboul 120-150 words : (B)

How did the beautiful bond of love and friendship between the narrator and his grandmother
change with the pasage of time?

OR
Why were the crewmembers desperale Lo look [or an island? How did they manage?
Answer any one of the given question in 120-150 words : (6)
Describe the narrator’'s second visit to Mrs. Dorling’s house.
OR
Deseribe the narrator's ploy to get Ranga married.
Answer Lhe given question in about 120-150 words : (63)

What preparations did the Canlerville ghost make for August 17 performance? What was his
plan of action? :

Answer the given question in 120-150 words : ' (6)
Write the character sketch of the twins.

(F-5)
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HALF YEARLY EXAMINATION 10/2017
CLASS : XI :
(_  SUBJECT ; ACCOUNTANCY (SET-I)

Time : 3 Hrs. ' ' M.M.: 100
Instrictions : '

i)
(i)

(iii)

Q1.

Q2.
Q3.
Q4.

5.

Q6.

Q7.

Q8.

i

Marks for each question are indicated against it
All parts of a question should be attempted at one
place.
Show working notes clearly.
Which qualitative characteristic of accounting information
requires the use of common unit and common format of
reporting? Define it. ‘ (1)
How would you identify wages paid for construction of
building? Define the type of expenditure identified. (1)
Why is provision considered as a charge against profit?
" , (1)
What do debit item of Capital Account and credit item of

debtor's Account mean? (1)
Why is Journal called ‘Book of Original entry? (1)
Bank column of cash book may have debit or credit
balance. Why? (1)
Define Trial Balance. Enumerate its objectives. (3)

(a) Pass the opening entry on 1st April, 2017 on the

basis of the following information taken from the
books of Mr. Raj.
Cash at Bank ¥ 18,000; stack of poods ¥ 50,000;
Dehtors - Ajay €2,700, Sunil ¥ 1,800, Bharat { 2,000;
Creditors - Bose & Co, ¥ 7,000, Mrs, Sunil's loan
¥ 7,200; Capital ¥ 60,000. '

(b) Prepare account of D. Bhudhiraja, the proprietor of

business from the following information :

®

'(i] Capital introduced ‘ 30.000
(i) Drawings 8,600
(iii) Additional capital introduced 22,000

(iv)  Profit for the period - 7,600
, (1V+1%=3)

(1)



Qo.

Q10.

g11.

Raghav started business on 1 April, 2013 with assets
¥.3,12,000 and Uabilities ¥ 20.000. Duridg the year he
Suflered a loss of ¥ 25,000 and had Withdraw,_ ¥ 31,000
from his business. Calculate the value of his capital and
closing assets as on 31 March 2014. [3)
Prepare petty cash book from the following transactions
based on imprest system. The imprest amouint is ¥ 300.

2017 | (3

- 1dan. Paid Bus fare 15
3Jan.  Paid Postage ' 20
4 Jan. Paid cartage : 23,

. 6Jan. Paid courjer charges 30

~8dan. Paid stationery 30
12 Jan. Travelling expenses 25
15Jan. Paid chowkidar - - 50
17Jan.  Spap expenses ‘ 20
25 Jan, Printing charges 25 (3)
Distinguish between Trade discount and Cash discount
on the'foll,oxx‘ring basis ;. (3)

Q12

(¢} Nature of Transaction o AR
Identify the error committed in the following transactions:

(a)  Goods purchased from Ram for ¥ 250 is recorded as
< 520. -

() Purchase return to M/s Abbas & Co. ¥ 1,200 is

Q13

omitted to be recorded.
(©)  Purchase Book is undereast by ¥ 1,000.
(d)  Rent paid 7 2.000 is debited to landlard account,
(e)  Credit sale of 7 1,700 to Ram was recorded as¥ 7,100
while sale to shyam was Tecorded as ¥ 1,700 instead

of ¥ 7,100. .
M  Received commission ¥ 1,000 from Kumar & Sons
was credited to them, (3)

(a)  Kumar & Sons paid ¥ 10,000 per month to g charity
 school for teaching under privileged students and
¥ 15,000 per month to old age home. Mr. Sunder,

(2)




" the gecountait made a mistake N recording chafity

payment as ¥.1,000 instead of ¥ 10,000, However,

L} he did not correct the mistake due to fear of Mr.

(b)

Kurnar, the proprietor. Which values arc followed or

ignored by Mr. Kumar & Mr. Sunder.
Distinguish between Sales Book and Sales Afc oil.

basis of content. ‘ (3+1=4)

Q14. What are International Financial Reporting Standards?
Explain the objectives of International Accounting

. Standard Board? : : (4)
'Q15. Identify the accounting principle involved in the following
situations.: ’ '
(a) Closing stock is valued at cost price or realisable
value whichever is less. v
(b)  Financial ctatements should disclose all significant
' information. ’
(c) Assets are recorded at the value paid for acquiring
it. ‘
(@) - Calibreor quality of management is not disclosed in
~ the balance sheet. ; | (4)
- (316, Prepare the Trial Balance from the following information
‘ of Kamal Stores as on 31st March, 2017 : (4
- 0 &)
Capital 90,000 | Sales 95,000
.Purchases 60,000 | Bank overdraft 2,000
. Returiy inward 3,000 Sa.lary 20,000
" Discount Received 3,000 | Carriage o 3.000
Discount Allowed 4,000 | Furniture 20,000
Loan 25,000 | Interest on loas .. 2,000
Debtors 34.000 | Creditors 20.000
Investments 50,000 | Cash | 15,000
Stock - 24,000 | Accrued commission’ 27,000
Bills payable - 27,000 z o
Q17. Explain briefly the following Zocounting principles : (6]
(@ Going concern assumption ‘
b) DBusiness entity concept

(3)




(18. Distinguish between Cash Basis and Accrual Basis of
aeeounting of the following basts : (5

Q19.

J20.

a) Recording of Tfﬁﬂﬂﬂ{ﬂ_mﬂ

L 1

(b) Legal posmon
(c) Prepaid/outstanding expenses
(d) Technical knowledge

(e)  Acceptability
(i  Reliability

Enter the following in Purchase and Sales Book of Superior
- Cloth House : ' S G

April 2

April 4

April 5

April 12

April 15
April 20
April 26

April 28

100 metre Cotton Cloth @ ¥ 40 per metre

Sold to Five Star Cloth House, Delhi ,
150 metre Cotton Cloth @ T 200 each ]
40 metre Woollen Cloth @ ¥ 600 each
Discount @ 10%

Purchased from Radha Krishan & 5ons.

80 metre Woollen Cloth @ ¥ 80 per metre
Sold to Vishal Garment House i 1
10 metre Silk @ ¥ 2,000 each
5 metre Khadi Silk @ ¥ 2,500 each

Discount @ 15%

Purchased from Raghubir Prashad & Co.

40 metre Silk Cloth @ ¥ 100 per metire

150 metre Cotton Cloth & ¥ 50 per metre
Trade Discount @ 15%

Sold to Prakash Cloth House

100 metre Cotton Cloth @ T 180 each for cash
Purchased from Modern Furniture

10 Chairs @ ¥ 200 per chair

Purchased from Ram & Sons for cash

60 metre Kota Silk @ ¥ 120 per metre

Sold on credit to Sunil Store

& Typewriters @ ¥ 400 each

Show that the accounting equation is satisfied In the
following case :

(4]




() Ram commenced business with cash £ 1,50,0000,
s poods ¥ 30,000, machinery 7 4,00,000.
i) gold poods costing T 90,000 @ profit of 20% on cost
to Mohan o1l credit.
(iid) purchased pgoods from Sohan ¥ 20,000.
(ivy Mohan returned goods worth T 6,000.
(v) Paid Insurance premium' # 2.000 of which 1 /4%
premium is for next yeat
(vi) Goods costing # 2.000 was distributed as {ree
- samples. o
(i) Goods pu,rchased from Sohan were sold to Rajiv for
7 25,000. '
(vilf) Charge depreciatioh on machinery @ 10% P-&-
(ix) Goods worth £ 3,000 was withdrawn by Ram for
household purpose. .
® Commission received in advanee ¥ 1.000.
(xi) Charge interest on capital @ 10% p.a.
(xid) Paid salary F 4,000 but ¥ 1.000is still unpaid. (3]
Q21. From the folmwing information supplied by Sanjeev,
! prepare his Bank Reconciliation Statement as on December

.31, 2016 @
Wi Bank overdraft as per Pass Book 18,500 |
(i) Chegques issued put not presented for _
: payn‘ient - . ‘ - 8,750
(i) Cheques deposited with the bank not :
. collected ~ 10,500
i\ _Payments received from customers
7 irectiy by bank " - 3500
vy Bank chaiges debited in the Pass Book 200
i Abillof? 3,000 (discounted with the
bank on Novembet) dishonoured on
December 31, 2012 and noting charges
paid by the pank. ‘ 100

(wii) ADbill for 10,000 was retired by the Bank under &
rebate of ¥ 000 but the full amount of the bill was
credited 1n the panls columil of the Cash Book. (@

(5)



T

Q22, Journalise the following transactions in the books of Milan

Q23.

(any 6)

i)

(vi)
(vii)

(viii)

L
Machinery costing ¥ 5,00,000 ordered earlier along

with the advance of ¥ 50,000 was delivered. The

balance payment was made as follows

(al An old machine (personal asset of Milan)
valued at ¥ 50,000 was accepted by the
supplier. ‘

(b) Balance payment was made by cheque.

Sold goods costing € 10,000 at cost plus 20% profit

~less 10% trade discount, to Sujit.

Cash embezzled by an employee ¥ 2,000.

Goods completely damaged in an accident ¥ 10,000.
Out of rent paid this year T 10,000 relates to the
next year.

Milan transferred ¥ 15.00,000 to the firm's bank
account from her saving A/c. '
Cheque of 7 5,000 received from Rajan, Debtor, was
dishonoured.

Provide depreciation @ 10% p.a. on furniture costing
Z 10,000 for 9 months. (&)

Enter the following transactions in the Cash Book with
Cash and Bank columns. Also pass Journal entries where

necessary : (8)
2017 ®)
April 1 Cash in Hand 6,200
" Bank overdrali 18,600

April2  Received a cheque from Hari and
paid it into Bank on same day 1,300
April 3 - Received a cheque from Vinod 3,300

April 5. Cheque received from Vinod deposited

April B Purchased goods and paid by cheque 20,000 k

in Bank ‘

April&  Sold goods for cash 16,000
April 9 Sale proceeds of April 8 deposited

in Bank

(6)




Q24.

April 11 Withdrew cagh far private wse 5,000
Aplfg: 19 Cheque recetved from Ajay and

endorsed it to Vijay - 20,000
April 25 Withdrawn from Bank 10,000

April 28 Bank notifles that Vinod's cheque
has been dishonoured, Bank charged
¥ 20 on this cheque “ ,
April 30 Interest on Bank overdraft 720
- | OR
Enter the following transactions in the Cash Book with
Cash and Bank columns. Also pass journal entries where

necessary. _ (8)
2017 -
June 1 Commenced business with cash 1,00,000
June 2 Opened a current account _ 80,000

June 10 Received cheque from Ram ¥ 7,230

on his account ¥ 7,500
June 12 Cheque received on June 10 deposited
in Bank .
June 15 - Received cash ¥ 1,000 and cheque
¥ 1.400 for cash sales

June 18 Drew cash for personal use _ 10,000
June 20 Received a cheque from X and '
endorsed itta ¥ 29.000

June 28 Withdrew from Bank for office use 4,000
June 29  Received a money order from Mohan . 300
June 30 Cheque deposited on June 12 was
dishonoured
June 30 Purchased 100 shares of Reliance Co.
@ ¥ 80 each and paid by cheque
June 30 Bank collected interest on securities 500
On 1st August, 2009, Gadore Lid. purchased a machinery

for ¥ 3,00,000. On 18t November, 2010 another machinery

was purchased for ¥ 1,80,000. On 1st July 2011, the
machine purchased on 1st Aupgust, 2009 was sold for

(7)



¥ 1,66.000 and on the same date 2 fresh machinery was
gurchased for ¢ 2,00,000. Depreciation was n\ioﬁcled
10% p.8, op the Reduciag Balance Method. Boulks ATE
closed on 31st March avery yoat. ‘
You are required to prepare Machinery Account for thres
years ending a1st March 2012 ' (8
OR | ‘
On April 1, 2012, Z 1id. purchased a plant for 7 5,00,000.
On 1st October in the same year, additional plant costing
¥ 2.00,000 was purchased, On 1st October 2013, the plant
purchased on 15t April 2012, having become ohsolete was
sold off for T 9.65,000. On 1st July, 2014, a new plant
was purchased for 8.00.000. The firm provides
depreciation @ 10% p.a. on original cost on 3]st March
gvery year. '
prepare Plant Account for three accounting years ending
q1st March 2015 . (8)
Q25. Fillin the misssing information in the following Rectifying
Journal Entries : (8)

Journal

—

Amount

Particulars ;
| (Dr)

e 1,000
(Being the Purchase Boo

undercast now rectified)

TO - ccrvnmerneeinene o 20,000
(Belng wages for gonstruction
of huilding wrongly debited to
wages Afc, now rectifted)
Ramesh voue- DI

(i)
— ‘ . 1,200

L — ’ 1,200
(Being wWrong recording of Sales 10 ’

Purchase Book, now rectified)

(&)




(vl

.....

(k¢ the eredit purchases of 7 1,049 |
from Suresh was passed in bogks as
¥ 1,400 now rectified)

To Mohan's Ale ,
(Being goods returned by kamal for
¥ 6,000 wrongly debited to Mohan as
¥ 12,000 now rectified)

1) Afc | 2000

TO oo
TO viivunen

[_Being Salaries paid to employe - ,
¥ 2,000 debited to his personal account
as ¥ 1,200 now rectified)

................................ Afc we. DI 155
L
(Being Salary posted twice i

the booksnow rectified)

(vl Y Afe cens DI .2,800
B0 sestvnss s :

(Being total of return inwards beok

wrongly posted to purchase Al
now rectified) ‘

e I 18,000

T TER TR T

T iiiieasaas

L LI

1,200

800

135

2,800

OR

Determine the missing information in the following

(Being the goods returned to Rohan for
¥ 6,000 wrongly crediied tq Naveen ag
Fd 2.000 now rectified)

(9)

Rectifying Journal éntries : (8)
;- . Journal
Date Partjculars LE Amount = Amoynt
: (Dr) (Cr)
T — T R Dr. '
e . 5 e Dr.
To Suspense A/c 8,000



(i)

i)

v

(viii)

1 omitted from schedule of Debtors)
........ PRI weeee DIL

(Being the goods sold to Amit for
¥ 12,000 credited to him as ¥ 2,000
now rectified)

Suspense Afe - ... Dr.

To Mohan
(Being sales return of ¥ 5,000 debited

to Mohan, who returned the goods, »

now rectified))

To Kamal Furniture Mart:
(Being purchase of chair for ¥ 65
from Kamal Furniture Mart entered
in purchase books ¥ 56)

........................................... Dr.
41 O

(Being total of sales returns Book

omitted to be posted)

N Avesrssssenninnanesnvarsss | nees Dr.
g T ——

(Being ¥ 6,000 owing by customer

(Being total of Return outwards Book
2,800 posted to Sales Account)

(Being sale of old car for T 10,000
was credited to Sales Account
as 7 6,000)

taisisiiisiin

210

--------------

..............

..............

..............

..............

(10)
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Draw a pie diagram to represent the following data showing
marks obtained by a student in an cxamination.

‘Sﬁb‘jécts | Bustness Acmuntancy‘ Slatistics | Economics | English
Studles - ‘ :
Maks | 8 | 10 | 50 | 40 | 80
Q10. Calculate arithmetic mean from the following data (Take
assumed mean as 35) B el (4)
Mdpoit | 5.[ 15 [ 25 [ 85 [ 45 | 5
Frequency Tilies 10+ [ 2B 30 | 20 10
Q11. Locate the Value of medlan graphxcally . (4)
Marks - 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 |
‘No. of Students 1 3 ‘9 7 18 130 1‘8 e '12 '
Q12. (a)  Distinguish between census method and sampling

method of collection of data.

(b) What is telephonic interview method‘? Give its merits
and limitations. (3+3=6)

_ ‘ OR

(a) Explain mulu -stage samplmg with the help of a
-suitable example. :

(b)  What is a questionnaire? List any two essentials of
a good queshonnaue : ;

'Ql3 Calcualate mode by grouping method from the followxng

Cdata: , e o
Marks - 0-10 | 10-20 | 20-30 | 30-40 | 40-50
No: of students' " 107 ]=&90" =} 30+ |" -0 10

Ql14. (a) The followmg table gives the d1str1but10n of monthly

: ~ salary of 458 employees. IInWever the frequencies

of the classes 30-40 and 50- 60 arc missing. If the

median of the dis[rihuijnn is 47‘ ﬂnd the missing
frequencies :

R A e e




e —

Marks 1020 | 2030 | 30-40 | 4050 | 5060 | 6070 | 70-80
No. of students| 24 0 | x |10 1y 50 % :
(b) _ State any fwo merits of median, T (442-6)
Q15. (a)  Theaverage height of 40 students was calculated as

155 cm. It was later discovered that the height of
two students was wrongly noted as 150 cm and 170
cm instead of 180 em and 160 cm respectively.
Calculate the correct average height.

: (b) . Calculate weighted mean for the given data. The

weights assigned to Mathemaﬁcs Accountancy
English -and- Economics were 4 "3, 2 and 1

QIS

B respt:ctlvely
| Subjects| Mathematics | A’ccuuntir:lg'b : Erlglish Economics | . -
Marks 5. | s .7 | Ts
R R T (313=6]

SECTIDN-B [Indian Economic Development]

Selling off a part of the equity of a public sector unit to the

private sector is known as: (Chnose the correct alternatlve}
: ' (1)

(a) L'iberalisa;tiori Yl[l?‘) ' DisiﬂVeStment i,

(). Globalisation: ~  * (d)" - Devaluation
Ql?. Which of the following is not true for smal scale industries
'[SS1)? (Choose the correct alternative) o (1)
(a) SSI is labour mtenswe and therefore, employment
onented _
by SSI needs less investment and is therefore equlty
oriented. : > e 55
(¢) SSIis capltal 1nten51ve and therefo:e mcreases
. productivity.
(s)} s8] shows laczational ﬂe}nbllity :-md is therefore,
‘.ﬁquahty oriented. . : .

@
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